
Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   1

DXL SERIES  10” x  10”

PART NO. DESCRIPTION LIST PRICE

LC1022 Load Cell, Type 1022 $ 180.00
(Specify Capacity) Used in 10” x 10” bases; specify capacity: 3,5,10,15,20,30,35 KG;

urethane coated; size: 5 1/8” L x 1 5/8” W * x 7/8”H
*varies with capacity,1 5/8” max.

SUB0004-1 Foot Assembly Set $ 25.00
Rubber feet; S/S 10-24 x 1” screw; set of 6

ENC0148 Platter, 10” x 10” Stainless Steel $ 40.00

SUB0330-1 Spider Assembly 5 LB. $ 90.00
Stainless Steel; 4 spring assembly

SUB0330-2 Spider Assembly 10 LB. $ 90.00
Stainless Steel; 4 spring assembly

SUB0330-3 Spider Assembly 25 LB. $ 90.00
Stainless Steel; 4 spring assembly

SUB0330-4 Spider Assembly 50 LB. $ 90.00
Stainless Steel; 4 spring assembly

MAN0011 Manual $ 20.00
Setup and Service Manual

HDW0011 Bubble Level $ 7.00

DXL SERIES   12” x  12”



Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   2

PART NO. DESCRIPTION LIST PRICE

LC1042 Load Cell, Type 1042 $ 180.00
(Specify Capacity) Used in 10” x 10”, 12” x 12”  & 15” x 15” bases;

specify capacity:3,5,10,15,30,50,75, 100 KG;
urethane coated; size: 6” L x 1” W x 1 3/8” H

SUB0004-1 Foot Assembly Set $ 25.00
Rubber feet; S/S 10-24 x 1” screw; set of 6

ENC0151 Platter, 12” x 12” Stainless Steel $ 55.00

SUB0343-1 Spider Assembly, 50 LB $ 105.00
4 spring spider assembly; Stainless Steel

SUB0343-2 Spider Assembly, 100 LB $ 105.00
4 spring spider assembly; Stainless Steel

MAN0011 Manual $ 20.00
Setup and Service Manual

HDW0011 Bubble Level $ 7.00

DXL SERIES   15” x  15”

PART NO. DESCRIPTION LIST PRICE

LC1042 Load Cell, Type 1042 $ 180.00



Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   3

(Specify Capacity) Used in 10” x 10”, 12” x 12”  & 15” x 15” bases;
specify capacity:3,5,10,15,30,50,75, 100 KG;
urethane coated; size: 6” L x 1” W x 1 3/8” H

SUB0004-1 Foot Assembly Set $ 25.00
Rubber feet; S/S 10-24 x 1” screw; set of 6

ENC0634 Platter, 15” x 15” Stainless Steel $ 100.00

SUB0411-1 Spider Assembly, 50 LB $ 170.00
4 spring spider assembly; Stainless Steel

SUB0411-2 Spider Assembly, 100 LB $ 170.00
4 spring spider assembly; Stainless Steel

SUB0411-3 Spider Assembly, 200 LB $ 170.00
4 spring spider assembly; Stainless Steel

MAN0011 Manual $ 20.00
Setup and Service Manual

HDW0011 Bubble Level $ 7.00



Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   4

DSP SERIES  10” x  10” &  12” x  12”

PART NO. DESCRIPTION LIST PRICE

LC1042 Load Cell, Type 1042 $ 180.00
(Specify Capacity) Used in 10” x 10”, 12” x 12”  & 15” x 15” bases; specify capacity

3,5,10,15,30,50,75,100 KG; urethane coated; size: 6” L x 1” W x 1 3/8” H

LC1140 Load Cell, Type 1140 - Stainless Steel Cell $ 256.00
(Specify Capacity) used in 10” x 10” & 12” x 12” bases; can be used in

8” x 10” & 12” x 16” bases with adapter kit (P/N LC1040AK)
specify capacity: 10,15,30,50,100 KG; all potted; size: 6” L x 1” W x 1 3/8” H

SUB0004-1 Foot Assembly Set $ 25.00
Rubber feet; S/S 10-24 x 1 screw, set of 6

ENC0148 Platter, 10” x 10” Stainless Steel $ 40.00

ENC0151 Platter, 12” x 12” Stainless Steel $ 55.00

ENC0521 Spider 10” x 10” Stainless Steel $ 60.00

ENC0152 Spider 12” x 12” Stainless Steel $ 90.00

MAN0011 Manual - Setup and Service Manual $ 20.00

ENC0147 Base Enclosure 10” x 10” $ 110.00
Stainless Steel

ENC0150 Base Enclosure 12” x 12” $ 130.00
Stainless Steel

ENC0153 Load Cell Shroud $ 95.00
                                    Dual, Stainless Steel

CNT0176 Load Cell Cable Strain Relief $ 10.00



Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   5

DSP SERIES   18” x  18”

PART NO. DESCRIPTION LIST PRICE

LC1250 Load Cell, Type 1250 $ 285.00
(Specify Capacity) Used in 18” x 18”, 18” x 24” & 24” x 24” bases;

specify capacity: 50,100,150,200,300,500,635,1000 KG;
all potted; size: 7 1/2” L x 3” W x 2 7/8” H.

ENC0189 Platter 18” x 18” Stainless Steel $ 325.00

ENC0190 Base Assembly Stainless Steel $ 425.00

HDW0042 Foot - Stainless Steel $ 25.00
1/2-20 UNF Thread; Sold individually

ENC0113 Load Cell Shroud $ 95.00
Dual. Stainless Steel

HDW0011 Bubble Level $ 7.00

MAN0011 Manual $ 20.00
Setup and Service Manual

HDW0079 Rubber Bumper Strip $ 10.00
1 1/4 x 1 4/8; 8 strips needed for 18” x 18”

HDW0159 Conductive Neoprene Pad $ 10.00
Sold Separately  (You Need 2 Per Base)



Issued September 2001
Replaces 9/99

PLATFORM  REPLACEMENT PARTS LIST

PLATFORM PARTS PAGE   6

     DSP SERIES  18” x  24” &  24” x  24”

PART NO. DESCRIPTION LIST PRICE

LC1250 Load Cell, Type 1250 $ 285.00
(Specify Capacity) Used in 18” x 18”, 18” x 24” & 24” x 24” bases

Specify capacity: 50,100,150,200,300,500,635,1000 KG;
all potted; size: 7 1/2” L x 3” W x 2 7/8” H.

ENC0126 Platter 18” x 24”  Stainless Steel $ 425.00

ENC0246 Platter 24” x 24” Stainless Steel $ 495.00

5000-004 Base Assembly 18” x 24” $ 575.00
Stainless Steel

5000-004A Base Assembly 24” x 24” $ 650.00
Stainless Steel

HDW0042 Foot - Stainless Steel $ 25.00
1/2-20 UNF Thread; Sold individually

ENC0113 Load Cell Shroud $ 95.00
Dual. Stainless Steel

HDW0011 Bubble Level $ 7.00

MAN0011 Manual $ 20.00
Setup and Service Manual

HDW0079 Rubber Bumper Strip $ 10.00
1 1/4 x 1 4/8;  10 strips needed for both models

HDW0159 Conductive Neoprene Pad               $ 10.00
Sold Separately - Need 2 Per Base


